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Introduction
At the last RAN3 meeting, the topic of failing the handover of E-RABs to 3G was discussed with the following conclusions which are available in [2]:

Following can be continue based on LS response from SA2:

SRVCC failure due to missing E-RAB attribute during 5G(SRVCC)->4G ->4G-> 3G

Further action on 3G -> 4G (IMS added) ->5G
This paper finalizes the discussion and proposes a TS 36.300 CR. 

Discussion
There were only two scenarios recognized as valid at last RAN3 and for which solutions were found as follows:

· 4g to 3g initiated on 5g
The issue discussed so far was the case of a SRVCC or PS bearer that was first setup on 5g then handover is performed towards 3g via 4g i.e. 5g -> 4g -> 3g.

In this case the 5GS does not allocate TI value for 3g and the AMF does not send TI to MME. MME has no TI value for the E-RAB. This field is however mandatory to be sent by SGSN in the Forward Relocation Request from 4g to 3g.
For the SRVCC the target RNC may endlessly wait for the Iu-PS Relocation Request. The solution was decided that eNB can be configured to trigger CS-only handover to 3g.
For the PS handover, it was commented that SA2 concluded that the SGSN may not include in the Forward Relocation Request the E-RABs for which the MME has no TI available. On the target 3g side, after RNC receives the RANAP Relocation Request, the target SGSN will resync with the UE and release the PDN connection corresponding to the non-received E-RAB(s).

Proposal 1: the first scenario was concluded as solved at RAN3#113.
· 4g to 3g initiated in 4g
The other use case is when the E-RAB is initiated in 4g.  In this case the MME has a TI value for the E-RAB. For if UE happens to handover first to 5g before going to 3g, the TI will be lost because the MME does not transfer it to AMF i.e. after handover from 4g to 5g the PS bearer is like if it were initiated in 5g. 
To solve the problem, SA2 made a CR to have MME add the TI value in the forward relocation message from MME to AMF. Then when the subsequent handover happens from 5g to 3g the AMF can include the TI to MME in Forward relocation request message and MME can therefore also include it in the forward relocation request to 3g. The issue has been solved. 

Proposal 2: nothing to be done in the second scenario because SA2 has solved it.
The other scenarios were not acknowledged. This is why no LS was sent out.
Conclusion and Proposal

This paper has reviewed the two scenarios acknowledged by RAN3 related to E-RABs being handed over to 5g with 5g involvement and made the following conclusions:

Proposal 1: the first scenario which was acknowledged by RAN3 was concluded as solved at RAN3#113.
Proposal 2: nothing is to be done for the second scenario because SA2 has solved it. If these agreements need to materialize in some CR, a CR against TS 36.300 is provided in [3]. 
The other scenarios mentioned as “to be continued” have been discussed two times already in RAN3 and not acknowledged, and no new element has been brought up at this meeting. Therefore we make the proposal 3:
Proposal 3: close the discussion on E-RABs which cannot be handed over with no remaining open points.
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